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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What is Cash Flow Statement ? Give its broad format 

and state its uses. 

jksdM+ izokg fooj.k D;k gS \ bldk izk:i nhft, rFkk 

blds mi;ksxkssa dk mYys[k dhft,A 

2. Distinguish between a Cost Sheet and a Production 

Account. Clarify how cost sheets are prepared ? 

Explain with example. 

,d ykxr i=d vkSj ,d mRiknu [kkrs esa vUrj dhft,A 

;g Li”V dhft, fd ykxr&i=d fdl izdkj cuk;s tkrs 

gSa \ mnkgj.k lfgr O;k[;k dhft,A 

3. Prepare Marginal Cost Statement from the following 

informations : 

Variable Costs : ` 

Direct Materials 10,000 

Direct Labour 15,000 

Chargeable Expenses 5,000 

Factory Overheads 7,500 

Selling and Distribution Overheads 12,500 

Fixed Costs :  

Factory Overheads 2,500 

Others 4,450 

Sales 64,000 
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fuEufyf[kr lwpukvksas ls lhekUr ykxr fooj.k rS;kj  

dhft, % 

ifjorZu’khy ykxrsa % ` 

izR;{k lkexzh 10,000 

izR;{k Je 15,000 

pktZ fd;s tkus okys O;; 5,000 

dkj[kkuk mifjO;; 7,500 

foØ; ,oa forj.k mifjO;; 12,500 

LFkkbZ ykxrsa %  

dkj[kkuk mifjO;; 2,500 

vU; 4,450 

foØ; 64,000 

4. Products A and B have standard labour requirements of 

2 hours and 3 hours per unit respectively. The standard 

wage rate is ` 3 per hour. During April, 1500 units of 

product A and 4000 units of product B were 

manufactured. Labour for the period totalled 14500 

hours and cost ` 44,000. Compute labour variances. 

^v* vkSj ^c* fuekZ.k dh tkus okyh oLrqvksa dh izkekf.kd Je 

vko’;drk,¡ Øe’k% 2 vkSj 3 ?k.Vs izfr bdkbZ gSA mudh 

izkekf.kd Je nj ` 3 izfr ?k.Vk gSA vizSy ds eghus esa  

1500 bdkb;k¡ ^v* dh vkSj 4000 bdkb;k¡ ^c* dh fufeZr 

gqb±A ml vof/k esa 14500 ?k.Vs Je ds yxs rFkk ykxr O;; 

` 44]000 vk;kA Je fopj.k dh x.kuk dhft,A 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Explain ABC analysis of material control. 

lkexzh fu;a=.k ds ABC fo’ys”k.k dks le>kb,A 

2. Explain the terms Waste, Scarp, Spoilage and 

Defectives. Enumerate the steps for control and the 

principles of accounting of such losses. 

{k;] {ksI;] cckZnh ,oa nks”kiw.kZ bdkb;ksas dh O;k[;k dhft,A 

,slh gkfu;ksa ds ys[kkadu ds fl)kUrksa rFkk buds fu;a=.k gsrq 

mBk;s tkus okys dneksa dk mYys[k dhft,A 

3. How are expenses classified in motor transport  

costing ? 

eksVj ifjogu ykxr fu/kkZj.k esa O;;ksa dk oxhZdj.k fdl 

izdkj gksrk gS \ 

4. State the stability of FIFO and LIFO method of pricing 

of material. 

lkexzh ds ewY; dh QhQks rFkk yhQks i)fr;ksa dh mi;qDrrk 

dh O;k[;k dhft,A 
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5. Write the accounting treatment of abnormal loss and 

abnormal efficiency. 

vlkekU; gkfu rFkk vlkekU; dq’kyrk ds ys[kkadu mipkj 

dks fyf[k,A 

6. “As a result of calculating break-even point, 

Accountants have come to realise that many valuable 

facts, all essential for operating a business enterpirse 

can emerge from the exercise.” Comment and mention 

some of the typical problems which may be solved by 

the break-even point analysis. 

ßle&foPNsn fcUnq dh x.kuk ds QyLo:i] ys[kkikyd ;g 

Li”V vuqHko djus yxs fd blls fdlh O;kolkf;d miØe 

ds lapkyu gsrq cgqr ewY;oku rF;ksa dk vkfoHkkZo  gksrk gSAÞ 

bl dFku dks le>kb, rFkk dqN leL;kvksa dk foospu 

dhft, tks le&foPNsn fcUnq fo’ys”k.k }kjk gy dh tk 

ldrh gSA 

7. What are the various phases of decision-making ? 

Explain the marginal analysis technique of decision- 

making. 

fu.kZ; ysus dh fofHké voLFkk,¡ D;k gSa \ fu.kZ; ysus ds 

lhekUr fo’ys”k.k rduhd dh O;k[;k dhft,A 

8. “Budgetary control improves planning, aids in co-

ordination and helps in having compreshensive 

control.” Substantiate this statement. 

ßctVjh fu;a=.k fu;kstu esa lq/kkj ykrk gS] leUo; esa enn 

nsrk gS rFkk fu;a=.k esa lgk;d gksrk gSAÞ bl dFku dh 

iqf”V dhft,A 



 [ 6 ] M.COM.–08 

A-54 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Prime Cost = Direct material + Direct labour – Direct 

expenses.   (True/False) 

ewy ykxr = izR;{k lkexzh + izR;{k Je – izR;{k O;;A  

    ¼lR;@vlR;½ 

2. Gross profit ratio measures overall profitability of a 

concern.   (True/False) 

ldy ykHk vuqikr ,d miØe dh lEiw.kZ ykHknk;drk dks 

ekirk gSA   ¼lR;@vlR;½ 

3. Material Mix Variance = Standard cost of Standard 

mix – Actual cost of actual mix. (True/False) 

lkexzh feJ.k fopj.k = izeki feJ.k dh izeki ykxr – 

okLrfod feJ.k dh okLrfod ykxrA  ¼lR;@vlR;½ 

4. Contract costing is a specialized system of job costing. 

(True/False) 

Bsdk ykxr midk;Z ykxru dh ,d fof’k”Vhd`r iz.kkyh gSA 

    ¼lR;@vlR;½ 
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5. In process costing no distinction is made between 

direct and indirect expenses. (True/False) 

izfØ;k ykxru esa izR;{k ,oa vizR;{k O;;ksa ds e/; dksbZ 

vUrj ugha fd;k tkrkA   ¼lR;@vlR;½ 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. Fixed cost plus profit is known as ............ .  

LFkkbZ ykxr ,oa ykHk dk ;ksx 
---------------------

 ds uke ls tkuk 

tkrk gSA 

7. Accounting Standard related to cash flow statement is 

............. . 

jksdM+ izokg fooj.k ls lEcfU/kr ys[kkadu izeki gS
---------------------

A 

8. Liquid assets do not include stock and ........... . 

rjy lEifŸk;ksa esa jgfr;k ,oa 
---------------------

 lfEefyr ughas gksrsA 

9. Retained earnings depicts ............ of profits. 

izfr/kkfjr vtZu ykHkksa ds 
--------------------- 

dks n’kkZrk gSA 

10. Debt-equity ratio is the relationship between outsider‟s 

funds and ........... . 

_.k&lerk vuqikr cká O;fDr;ksa ds dks”k ,oa 
---------------------

 ds 

e/; lEcU/k gSA 

 

 

M.COM.–08  600 


